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Zahl geht max. bis 100.

T92 = { 1, 2, 4, 23, 46, 92 }
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T48 = { 1, 2, 3, 4, 6, 8, 12, 16, 24, 48 }
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T86 = { 1, 2, 43, 86 }
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T90 = { 1, 2, 3, 5, 6, 9, 10, 15, 18, 30, 45, 90 }
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T13 = { 1, 13 }
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T57 = { 1, 3, 19, 57 }
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T44 = { 1, 2, 4, 11, 22, 44 }
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T95 = { 1, 5, 19, 95 }
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T2 = { 1, 2 }
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T3 = { 1, 3 }
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T25 = { 1, 5, 25 }
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T33 = { 1, 3, 11, 33 }
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T59 = { 1, 59 }
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T53 = { 1, 53 }
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T83 = { 1, 83 }
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T4 = { 1, 2, 4 }
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T50 = { 1, 2, 5, 10, 25, 50 }
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T56 = { 1, 2, 4, 7, 8, 14, 28, 56 }
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T26 = { 1, 2, 13, 26 }
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T9 = { 1, 3, 9 }
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T80 = { 1, 2, 4, 5, 8, 10, 16, 20, 40, 80 }
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T36 = { 1, 2, 3, 4, 6, 9, 12, 18, 36 }
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